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[edit fireall family inet filter COS-CLASSIFIER]
user@router# show
term MANAGER {
form {
soruce-address {
192.168.200.0/25;
}
destination-address {
100.100.100.1/32;

}

}

then {
forwarding-class expedited-forwarding;
accept;

}

}
term ALL-OTHER-TRAFFIC {

then accept;
}
[edit interfaces ge-0/0/1]
user@router# show
unit O {

family inet {

filter {
input COS-CLASSIFIER

}
address 192.168.200.1/24;

}

A.behavior aggregate
B.policer

C.multifield

D.forward policy
Answer: C
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A.run cli

B.cli

C.start cli

D.edit

Answer: B
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A.snoop
B.tcpdump
C.monitor
D.tall

Answer: C
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Answer: D
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A.RADIUS

B.CHAP

C.local user database

D.tacacs+

E.PAP

Answer: ACD
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A.11001111
B.11101011
C.11010111
D.11010101
Answer: A
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A.root authentication

B.default gateway

C.hostname

D.management services

Answer: A
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A.root

B.admin

C.juniper

D.user
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Answer: A
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A.as an outbound filter on interface fxp0O

B.as an outbound filter on interface |00

C.as an inbound filter on interface fxp0

D.as an inbound filter on interface 100

Answer: D
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Answer: C
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Answer: BC
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AHTTP

B.TFTP

C.DNS

D.SNMP

E.SMTP

Answer: BCD
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useri@router> show route protocol static
inet.0: 12 destinations, 12 routes (12 active, 0 holddown, 0 hidden)
+ = Astive Route, - = Last Active, * = Both

192.168.1.128/27 *[Btatic/5] 00:03:13

* to 10.20.106.10 wvia fe-0/0/5.106
19Z2.168.1.144/289 *[Btatics5] 00:03:13

> to 10.20.14.131 via ge-0/0/0.0

152.168.1.192/27 *[8tatic/5] 00:03:13

> to 10.18.1.1 wvia ge-0/0/1.0
192.168.1.128/28 *[Static/5] 00:01:08

> o 10.20.14.130 via ge-0/0/0.0
A.10.20.106.10
B.10.20.14.131
C.10.18.1.1
D.10.20.14.130

Answer: D

14.0SPF NESL— b DF 7 4L D7 1 b 20 DEBSENERL & 3 T4 2?
A.10

B.15

C.150

D.160

Answer: A
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A.set protocols set ospf area 0 set interface so-0/0/0.100

B.set protocols ospf area 0 interface so-0/0/0.100

C.edit protocols ospf interface so-0/0/0.100

D.edit protocols ospf area 0 set interface so0-0/0/0.100

Answer: BD
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[edit policy-options]
user@routec# show
policy-statement policyABC |
term A |
from |
protocol rip;
route-filter 192.168.1.0/24 longer;
i

then accept;

'

[edit protocols ospf]
userfroutec# show
export policyABC;
area 0.0.0.0 {
interface ge-0/0/0.0;
interface lol.0;

]

ZOTODLIEETT»? (2 DEHD
AZ%H% 192.168.1.0/25 X Z U AN 610 £ § .
B.&%I 192.168.2.0/25 £ ZF AL 6N £ ¢ .
COSPFIV—FBARIPIZZZAK—FENET.
DRIPV— % OSPFiZz /7 AKR— SN ET.
Answer: AD
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A.resolve

B.indirect

C.next-hop

D.recursive

Answer: A
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Answer: AC

V=747 HKY =02 002 BEHEIMTTH? (2 DIEHO
A.OSPF area ID

B.prefix list

C.port

D.time-to-live (TTL)

Answer: AB
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userfrouter> show route

inet.0: 9 destinations, ? routes (% active, 0 holddowm, 0 hidden)

+ = Active Route, - = Last Active, * = Both
10.10.10.91/32 *[Direct/0] 00:0%:40
> yia lo0.0
10.10.10.92/32 *[0SPF/10] 00:01:50, metric 1
> ta 172.16.1.2 vim ge=-0/0/2.0
100.100.1.0/24 *[Btatief5] 00:01:50
Reject
172.16.1.0/24 *[Direct/0] 00:06:09
> via ge-0/0/2.0
172.16.1.1/32 *[Local/0] 00:06:09
Local wia ge-0/0/2.0
192.168.0.0/16 *[hggregate/130] 00:00:06&
RBeject
192.168.0.0/17 *[Aggregete/130] 00:00:06
> to 172.16.1.2 wvia ge-0/0/2.0
192.168.50,0/24 *[gtatic/5] 00:00:06
> o 172.16.1.2 wim ga"DfﬂfE.D
192.168.51.0/24 *[2tatic/5] 00:00:06

> ta 172.16.1.2 wia ge-0/0/2.0

user@router> show configuration policy-options
policy=-statement demao |
term 1 |
from |
route-filter 192.168.0.0/16 longer accept;
i

then reject;

H

user@router> show configuration protocols ospi
export demo;
area 0.0.0.0 ¢
interface gs*DfDﬁE‘D;
]

A.192.168.0.0/16 only

B.192.168.0.0/17 only

C.192.168.50.0/24 and 192.168.51.0/24
D.192.168.0.0/17, 192.168.50.0/24 and 192.168.51.0/24
Answer: D
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